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(24 -  10)                        1    =  14

+ x- -

     (7 x 7)                        3    =  52

(100 -  80)                        4    =  5  (45 - 18)                        9    =  3

    (4 x  2)                        6    =  48     (3 x  3)                        2   =  11

 (30 -  15)                        3    =  5   (10 -  2)                        7    =  56

(8 -  5)                        6    =  9 (7 +  4)                        7    =  18

(12 +  6)                        4    =  14 (22 - 3)                        9    =  10

   (3  x  7)                        4    =  25     (6 x  5)                        3    =  33

Find The Missing Operation #2

Add the operation symbols: addition( + ), subtraction( - ), multiplication( x ),
 or division(    ) to complete the equation.
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